EAGRAROBREERT — 2 N— ABISH —F 202078300 (k) 8mEIFTRI6H

KWL FH [CXHARE] B Y5R2K [xwlw | mEmml - |5 ) w8
[A&4£] 1 7% :500,000  ~ 23#%&:100,000  ~ 3#&:75000H  43#%:50,000H” . 53&:25,000 ™
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N FEAEXA : - — 25 yi:: 3]
: 3| I—nvrsz o2 5302* 1.(1_6).0 1-1 39.6 2 (i?g) E,E?;BE;J& (ki)
RN T—I—) B:dz)—N>T— NS T =5
. o i . g _ | v
oo | T A TR # 2 | P L 86 | 37.9 N ans [l R Gl )
LA Lh—L B:ILX> il — © B s
s 4 o2 | HLERE 1:16.6 2-2 39.9| — 4 420 | #FOEA (ALiEiE)
3 4 ZALR—1 54.0 @ (-6) IR
o= B I aTa B OHEM
_F-_ 4 o2 | RAREEA 1:18.2 4-3 4.3 — 3 448 | NIBHEA (Lim&)
al7|7|N—F=—~)2 54.0 @) (o) | ECTEBBSGE
RFARIU—bFry b BT b HREM AEXT—TI
- i _ = o2 | ERS 1:18.5 3-4 M6l — 5 438 | /MNFLE (i)
5189 X¥LATX2—-X ) ¥¢53.0 (11/2) (-4) (B) HAHS
g/ XLy b BiL—RATZXE2-X TEARKIE

_ o2 | ABEC 1:18.7 4-5 M5 — 8 460 | BHHREZ (dtimE)
EE 6 *—FKyL 54.0 ) (+8) JEaIFL—ER

i — bR B:ILPRY—LAX 1R E—
7111177 %7‘37" A f 2 gf’g"?é?‘ﬁill 1;(139).3 -7 |#1.2] — | 6 <4+423) *ﬁé%lfg (L)
:2kAXTUE—2 BTLTULTELT e |z
o I8 s TAL A Ry T ) 4 2 53%{675‘1%&-1 1;(240)_1 4-7 28| — 7 <4+286) E%KEBH (AcizE)
w774 BINAALE A= fiwiCie
olsls 5("‘/2}‘/[/?‘}—% ‘ i 2 i{%ﬁﬂr 1:(271).6 8-9 3.1 - 9 (3+880) E%gi Claz:2c)
LobhyHT—ILE B AL RIvEIX B J77—L
@ 11— F—EBIBLL
13—=7-
23—7F—
83—7F— |[3,49,(56,7),1,(2,8)
43—F— 3,4,7,9,6,2,(1,5),8
[ /N2
BB 3 280M 714K 2-3 160 P & 2-3 190 BER 2-3-4 410M
7 B 3 120M 3-4 380 B = 2-3 210M 3 3-2-4 1,430
2 100 2-4 210 B HE 3-2 440
4 130M

ARICOVWTRDTEEERROODE. TR LI,



